MCCHA Ay K 1/4-1.1/2 NMD40
MCCH%A~y K 1-2 MD50
MCCHA Ay K2-.1/2-3 MD80

&%: PMDM104. PMDM105. PMDM108

MCC

PMDM104 MCC #4~wF 1/4-1.1/2 MD40 PMDM105 MCC ¥4~vF 1-2 MD50

HRES IR HZ| N BRaEs #aE| No.
1438001 HA~yR40 Al 1 1 1440001 AA~NYR50 K 1 1
1438002 | hLTL—b F 1 2 1440002 | ALTL—b H 1 2
1438003 | ALTL—MEX Al 1 3 1440003 | ALTL—HEZ H 1 3
1438004 | ALRENUEL 1 4 1440004 | ALRANVEIL 1 4
1438005 | EE/N\UFIL 1 5 1440005 | EIE/\UEIL 1 5
1438006 | Yo 1 6 1440006 | Y>4 1 6
1438007 | fI@ER&HARILE 1 7 1440007 | FIERHAILE 1 7
1438008 | EES 1 8 1440008 | EE® 1 8
1438009 | RFYv4" 4 9 1440009 | RFYvH 4 9
1438010 | $44R MD40 1 10 1440010 | #81R MD50 1 10
1438011 RANMFERILE M6x18 4 | 11 1440011 RENRFERILL M6x18 4 | 11
1438012 | $MEk 55k 4 | 12 1440012 | $AEk 55k 4 | 12
1438013 | +FIFEFRNRS M4x6 2 | 13 1440013 | +F7RUFEF AR M4x6 2 | 13

Fr—4" 148 | 14 Fr—4" 140 | 14

PMDM108 MCC #4AwF 2.1/2-3 MD80

HMRES I #E| N
1441001 FA~NYF80 C-Cil 1 1
1441002 | ALTL—F c 1 2
1441003 | ALTL—HEZ 80 1 3
1441004 | ALFANVEIL 1 4
1441005 | BEENUEIL 1 5
1441006 2y 1 6
1441007 | fu@RHARIE 1 7
1441008 & 1 8
1441009 | XFYv4” 4
1441010 | $4iR MD80 1
1441011 ARARGERILE M6x18 4
1441012 | $AER 5Bk 4
1441013 | +FREEFANNRD M4x6 2

4

Fr—4%"

[zl




